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BIOLOGY
PAPER 1
MARKING SCHEME

1.
i)
Mangifera indica (mk)
rej; if not underlined


ii)
Binomial nomenclature







(1mk)

2.
a)i)
The anhydrous – cobalt II Chloride paper turns pink.



(1mk)


ii)
It turn pink or being hydrated by water vapour as a result of transpiration ;

(1mk)

b)
Hold  a strip of anhydrous cobalt II Chloride between two microscope slides but do not attach to the leaf. 








(1mk)

3.
i)
Bile


ii)
Urea 









1 x 2 = 2mks

4.
Enable the leaves to absorb maximum sunlight for photosynthesis .



(1mk)

5.
a)
-
To prevent burning of cells 



-
To prevent denaturing of enzymes .



(any 1 x 1 = 1mk)


b)
Adenosine Triphosphate . (rej; ATP)










Pyruvic acid








1 x 2 = 2mks

6.
a)
Ecological succession.







(1mk)

b)
Symbiotic relationship ) between  fungus which absorbs water and mineral salts; and the algae which manufactures foods;






(2mks)
c)
- Migration of some members


- Reduction in population site as some die of starvation.


1 x 2 = 2mks)

7.
Clostriudium / Azotobacter.








(1mk)


b) i)
Rhizobium bacteria.








(1mk)


ii)
Nitrification by lightening / lightining 





(1mk)


iii)
Y – Decay / decomposition 







(2mks)



Z- Denitrification.

8.
a)
Is the change of the structure of the gene or DNA molecule.



(1mk)



DNA molecule.








(1mk)


b)
Non – disjunction.








(1mk)

9.
i)
XHXh acc. (XhXH) .








(1mk)


ii)
XhY










(1mk)

iii)
Male 










(1mk)

10.
Growth in the stem occurs at the apex ; the bark is a zone of permanent tissues where no 

vertical
 growth occurs;








(2mks)

11.
a)
Diabetes mellitus ;








(1mk)


b)
Regular injection with insulin.



Diet – reduction in the amount of carbohydrates  taken in .


1 x 2 = 2mks

12.
-
Stimulates and activates enzyme


-
Medium for respiration


-
Is a solvent







Any 2 x 1 = 2mks

13.
i)
Population is a group of one species of organisms living in a particular habitat.


ii)
A community is a  group of plants or animals living togethers in an environment .

iii)
Ecosystem is a self sustaining system with plants and animals interrelating with environmental conditions.





(1 x 3 = 3mks)

14.
a)
- Chloroplast.


- Cellulose cell wall



- Tonoplast 








(Any 2 = 2mks)


b)
Crenation is the shrinking of Red blood cell when placed  in hypertonic solution.


c)
Haemolysis – is the bursting of the Red blood cell when placed in hypotonic solution.











( 1 x 2 = 2mks)

15.
a)
Lysosomes.








(1mk)


b)
Mitonchondria. Rej ; mitochondrion.






(1mk)


c)
Contractile vacuole / rej; vacuole



water vacuole









(1mk)

16.
a)
Based on use and disuse of structures that led to development grid disappearance 

or reduced structure.









The characteristics were transmitted to offsprings. OR Environmentally acquired characteristics are inherited.

b)
- Coccyx : Appendix







( 1 x 2 = 2mks)

17.
a)
- Carbon IV Oxide concentration



- Temperature



- Glucose ( blood sugar concentration)



( 1 x 3 = 3mks)


b)
Lactic acid.








(1mk)

18.
a)
Is the relationship between Carbon IV Oxide liberated and oxygen consumed OR the  
ratio of cabon IV Oxide evolved to oxygen absorbed


( 1 x 1 =  1mk)


b)
Amount of energy required for food breakdown is large / more.

( 1 x 1 = 1mk)

19.
Enzymes are protein in nature.







(1mk)

20.
They do not take part in cell metabolism .






(1mk)

21.
a)
1 – Cortex.









(1mk)



2- Medulla









(1mk)


b)
Have long loop of Henle



Have small sized glomeruli.






1 x 2 = 2mks

22.

[image: image1.wmf]3

3

2

2

1

1

2

2

)

m

pm

C

i

a





( mark correct order)


(1mk)


b)  
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= 2 x 8 = 16 = 32






= 2 x 8 = 16






(1mk)


c)
Chisel shaped; for cutting food into small pieces.




(1mk)

23.
-
Auxins
; Rej; IAA

-
Gibberllins


-
Cytokinns

24.
a)
Water vapour.



-
Oxygen gas 



-
Carbon IV Oxide  gas.





1 x 2 = 2mks


b)
i)
Stomatal pores on lower epidermis ; through which the gases enter and leave.


ii)
Spaces in spongy mesophyll layers to allow  gases to pass through.


iii)
Film of moisture lining the mesophyll cells in which gases dissolve



iv)
Broad lamina to offer a large surface area for diffusion of gases.











(Any 2 = 1 x 2 = 2mks)

25.
a)
Essential amino acids are not synthesized by  the body hence they have to be 

provided in the diet ; non – essential amino acids are synthesized in the body.1x 2 =2mks)


b)
-
Vitamins



-
Water .







(1 x 2 = 2mks)

26.
i)
Allele is an alternative forms of a gene controlling a particular character OR are 

a pair of genes occurring at same loci in the Chromosome.

27.
i)
Convergent evolution.








(1mk)


ii)
Analogous structures.








(1mk)

28.
a)
Division Bryophyta.








(1mk)


b)
A – Capsule



B – Seta.









(2mks)


c)
- Anchorage



- Absorb water and mineral salts.





1 x 1 = 1mk
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